SRA RPN =D [

g3 NEgH gdzt
Sl RZH ASAIH =X (S &)
_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
PRS- EE () 2,921,374 3,845,155 A923,781
= 30,000
= 1,590,600
< 240,750
Al 1,060,024
NEZH 2dst 2,776,532 3,361,343 A584,811
= 1,590,600
= 240,750
Al 945,182
KNS H &AM =8 2,609,560 457,030 2,152,530
= 1,500,000
< 225,000
Al 884,560
SteHE 52,810 57,400 24,590
201 YErH2EH| 2,100 4,600 22,500
01 AtR2eltl 2,100 2,100 0
OSIIZ2UERE Sag2us dAE
300, 000& »23! 600
O2JI2LIHA =8 72 10,000 & *50H 500
OSJetd & &l 2K =g S22 MH
- 1,000& *1,000H 1,000
301 LEE A= 50,710 52,800 22,090
10 A HIZ2 &S 1,120 960 160
OSIZ2LIHA & ABINEH 2HE2IHE
7,000 x80H *23 1,120
12 JIEt2 4= 49,590 51,840 A2,250
OSItetEHAA MYIISTE 7
1,730& 1001 % 15004 2 +23] 5,190
OSIIZ2LIH2A 243 100,000& 37«12 44,400
NSEH AR F=A 30,170 189,850 A 159,680
201 YEr2EH| 5,670 7,350 A 1,680
01 AtSZelt| 5,670 7,350 A 1,680
OZNA2A3 3o &M
70,000 *25H +33] 5,250
OAnREREEsEII= A &2f2s 4
=g 70,0003 »3E #23] 420
203 HRF=&H| 12,000 30,000 A 18,000
03 AIMMFAHRFLIH| 12,000 30,000 A 18,000
OXNSGEN &dst JRFA 12,000,000& 12,000
306 == 12,500 12,500 0
01 £¢3 12,500 12,500 0
Ost=XHAEE == 12,500,000& 12,500
NSBHEH X 260,000 205,000 55,000
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2A:

=EF

=

NSRRI

ASEH g4zt
NS 2dEtAlE =2

= = — AN L=
SA - HH SR (B) - MRAY - BAS il &t e imE=T
307 212+01 M 190,000 205,000 A 15,000
02 QI2HAAS X 190,000 205,000 A 15,000
ORHNIZHLEEE2S 8F 65,000,000 65,000
OsAJlgs g 2EI01E = M
5,000& x5,000% 25,000
OREA ZHMIE A 100,000, 000& 100,000
402 QIREXHEOIH 70,000 0 70,000
01 2I2tEEx 70,000 0 70,000
OR&AZsoA FENSHE FHI(PC) WXl
A& 70,000,000& 70,000
2HIX B 4,780 4,780 0
201 LEt23H| 4,780 4,780 0
01 AtR2teltl 4,780 4,780 0
OAHINEM o3 39 EA&H
70,000 x8H *43] 2,240
OAHIAF TIoHHE BISZA=E
150,000& 12 *33] 450
OLHIA DY =22 & 2,0002 *800H 1,600
ORESMINIAL 519 B2
70,000 *7H*13] 490
SARSSFUEAE 2,250,000 0 2,250,000
= 1,500,000
= 225,000
Al 525,000
401 AlZHI20HYI 2,250,000 0 2,250,000
= 1,500,000
< 225,000
Al 525,000
01 Al&tl 2,250,000 0 2,250,000
O=ARScsTHEREH HE
,250,000, 000& 2,250,000
= 1,500,000
& 225,000
Al 525,000
2atEol X# 11,800 0 11,800
201 LEt23H| 11,800 0 11,800
01 AtR2teltl 11,800 0 11,800
OA4a30 AAME W= 11,800
— UM 150, 0003 x4 H 42 +23| 4,800
— 1w THYl 15,0003 « 1502 x23] 4,500
—E24| 2,500,000& 2,500
HehAlE BAst D8 25 166,972 2,904,313 N2,737,341
& 90,600
= 15,750
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2A:

NSRRI

g3 NEEH gdzt
EH2l THEHAIE &d3t DIt 2= (e &2
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
Al 60,622
THeH Al &St 14,613 264,613 A250,000
201 2Bt 14,613 264,613 A250,000
01 AtS2elH| 1,960 251,960 A250,000
OMHAIZE LIRS 5o Fase
70,0003 *7H *43] 1,960
02 S22l 12,653 12,653 0
OZNISEAE DHEHHH 2,868
—&IIR3 117,000 x 128 1,404
—& - ot R= 122,000& *12& 1,464
ORESSAE DAHHH 4,986
—NIIe3 273,000 *12& 3,276
—& - ol=ER3 142,500 x 128 1,710
ORINRAYE SSa&E4 Rl 4,669
—HIIe3(Le) 48,0008 122 576
—&IS(A0F) 24,0003 +12& 288
—& - ol=ER3 305,000 12& 3,660
—&3lX Ha 14,6533+(1, 1312+ 115k£) 145
OZDISEAE NHEJUH SHENHRES
50,000& 23l 100
ORISSAE DHEHOHEH SZMERES
15,000 23] 30
HEANE AMLEEUS 152,359 0 152,359
= 90,600
S 15,750
Al 46,009
401 Al&HIZL S0 152,359 0 152,359
= 90,600
= 15,750
Al 46,009
01 Al&Hl 151,000 0 151,000
OZSSLAE AYAIE FH 72,000,000& 72,000
& 43,200
= 8,640
Al 20,160
OYG=L2AIE S 20004 AL (OtA) FH|
79,000,000& 79,000
= 47,400
= 7,110
Al 24,490
03 AlZ=0HbI 1,359 0 1,359
OZSSLANE LAZAIE FH
72,000,000 *0. %% 648
OYILRAE S 20004 HEAIA (DtA) A
79,000,000 *0.9% 711

_39_




2A:

NSRRI

ZH: UK 02 gelat & JFAQHE 22|
Rl iUl gelst 01 (S d &)
o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
OILX 0l &elsh & JtAtE 2t 92,372 301,202 /208,830
= 30,000
Al 62,372
GIHX gl 0I= 92,372 301,202 208,830
= 30,000
Al 62,372
R =RSEN KX 4,172 5,672 21,500
206 =4 4,172 5,672 21,500
01 MH=Hl 4,172 5,672 21,500
OA=EMHL SESMN AT
1,600 %5 £ x84 2 672
OLEHAMNEE M 78 & =2 3,500
—AE -l 750,000 750
—ZAL =& 2,750,000 2,750
OILX 2oy & JtaetA 28,200 248,200 220,000
201 et 5,000 25,000 /20,000
01 AtR2elH| 5,000 25,000 220,000
OlHXZES & 822 ME ¢
1,000& =4, 000H 4,000
ONAOHE S22 ME 5002 =2, 000H 1,000
303 Eai= 1,200 1,200 0
01 Zas 1,200 1,200 0
OUUXIE £Z 2484 RBAY
400,000 *3H = A 1,200
307 212t01& 22,000 22,000 0
02 It a2 X 20,000 20,000 0
OHigRFe To gxiHl N
2,000,000& x109t= 20,000
04 QUIZHSHALE X 2,000 2,000 0
OuUXNES S Ul 2,000,000 2,000
EHAZOIEN K& 60,000 30,000 30,000
= 30,000
Al 30,000
301 Zet2a=S 60,000 30,000 30,000
= 30,000
Al 30,000
12 JIet24=s 60,000 30,000 30,000
OBAHQIE QIMEIE XIs
15,0002 *4, 000 Al CH 60,000
= 30,000
Al 30,000
Y2 BHI(NHS ML) 52,470 62,610 210,140




FAT XSS M
M AY2IIH(NSZNL)
=y BReI B tal (S d &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
el 2| 4,200 4,200 0
=gala] 4,200 4,200 0
203 =&l 4,200 4,200 0
04 FA2IERFAH] 4,200 4,200 0
ORA2E LR 350,000 122 4,200
Jl223Hl 48,270 58,410 210,140
2et=gl 23,790 28,170 A4,380
201 et 23,790 28,170 4,380
01 AtR2teldl 21,840 26,640 24,800
ORAM2glI22 20,400
— 22 50,0002 x17& 122 10,200
—= 50,0002 *17& 12 10,200
O=ADl Xtz 120,000« 1L+ 123 1,440
02 3234l 1,950 1,530 420
OoR¥Ee=s 1,950
—ggeH 250330021+ 12& 900
—sJIf# 1,750 x50« 122 1,050
1] 24,480 30,240 Ab,760
202 OH| 24,480 30,240 Ab,760
01 =UHALI 24,480 30,240 Ab,760
PRI =20 H 120,000 x17&* 122 24,480
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